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A’ ®AXH

OEMA B

B1.

B2.

L x—4)+(Ax+5) +(x=T)(x+7)+8 - (x—22)(x +2/2)=2017 &
25x> —40x +16+16X° +40x+254+ x> —49+8—-x*+8=20
41x> =2009 <

x’ =49 & x=7 M x=-7
-7<x<7< -14<-2x<14 & 0<14-2x<28
)

o 7<x<7 & -14<x-7<0

Onéte  K=2|14-2x]-3[x-7|+x 14-2%)-3(-x+7 0 < K=28-
4x+3x-21+x+2010 & K=2017
2% Tpomog

o T<x<7 &-14<x-7<0
K = 2[14-2x| — 3| '
=[x 7| +x+2010

< — 7 -3 |x — 7 + x + 2010 =

TPOKVTTEL

eivon 12+ 1
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OEMA I

0.  A=4N—4r(A+3)=-12)

[a va &yet  TPOyHOTIKEG KOl (VIOEG

A>0 & —12A.> 0 A<O0.

B.  s=-P_mxapr=Yorn+3
0 0

A0 pETEL

% omotTE A =3

X,=-8xu P =

J27 =12 ). (/48 +\/108)+6<:>

A=
A, =(v0-3 -4 %@é-—hs-3+\/36-3)+6@
A=

(A ,

To 21 avtiotolys

oto ypapua D.
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i
A, =(ﬁ+1)3—(ﬁ—1)3 V225 &
A, =3 433 +3341-3 4343 33 +1-15

A, =9+1+9+1-15<1, =5
To 5 avtictoyet oto ypappa E

2% Tpomog

A, =(\/§+1)3—(\/§—1)3—\/E
:(@H_@H)[(@H)u
=2[(\/§+1+\/§—1)2— (f

=2-10-15=5

iii.

iv.  2[4-x|+272x-
o 2|x-4[+27=
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